

# **TENDER/QUOTE RESULTS RECORD**

REQUEST FOR QUOTE DESC	CRIPTION			
JOB TITLE:	Road Maintenance 2024			
ISSUE DATE:	July 12, 2024			
DEADLINE FOR SUBMISSION:	July 26, 2024	2:00pm		
TENDER/QUOTE OPENING	INFORMATION			
LOCATION OF OPENING:	Town Hall, 744	Logy Bay Road		
PERSON OPENING RECORDS:	Susan Arns			
SIGNATURE:	Sinanans			
PUBLIC BODY WITNESSES:	√ YES NO	) IF YES, PLEASE SIGN BELOW:		
	NAME & SIGNATURE: Chris Jackson Chri for			
	NAME & SIGNATURE:			
SUPPLIER REPRESENTATIVES:	YES V NO	) IF YES, PLEASE SIGN BELOW:		
	SUPPLIER NAME & SIGNATURE:			
	SUPPLIER NAME & SIGNATURE:			
	SUPPLIER NAME & SIGNATURE:			
	SUPPLIER NAME & SIGNATURE:			
BIDS RECEIVED (EXCLUDING H	IST)	KSKI DALEHERARA GRA		
SUPPLIER NAME & PRICE:	Parson's Paving Ltd	d. 279,112.50 + hst		
SUPPLIER NAME & PRICE:	JAT Excavating In	c. 53,091.70 + hst		
SUPPLIER NAME & PRICE:	Farrell's Excavation	gltd. 79,937.25 + hst		
SUPPLIER NAME & PRICE:				
SUPPLIER NAME & PRICE:				
SUPPLIER NAME & PRICE:				



Appendix A Unit Price Table

Office France					
item	Description	. Unit of Measure	Quantity	Unit Price	Amount
1.	Cleaning of existing ditches including the removal of ditching material and tree trimming as shown in appendix C.	m²	2213	\$9,50 n2	121,023.50
2.	Shouldering as marked by Town officials on specific streets as specified in appendix D.	m	131	115° m2	y 1,965.°°
3.	Asphalt Patching – Includes asphalt cut, removal, tack coat, and asphalt patching on specified streets shown in appendix E.	m²	456.11	\$66.00	30,103.26

Subtotal:

\$ 53,091,76

HST @ 15%:

17,963,76

TOTAL:

\$ 61,055,52



#### Appendix B Signature Page

By signing below, I acknowledge I have read, understood and agree with all the conditions outlined in the Request for Quotation. I also confirm acknowledging pricing as indicated in Appendix A - Unit Price Table, and that I have authority to sign on behalf of the company.

SIGNED, SEALED AND DELIVERED

Company Name	INC
PO BOX 624 TORBAY AD Address	STJOHN'S, NL, AIA 5BS
Name and Title (Print)	Name and Title (Print)
704-682-1750 Phone	Phone
Signature	Signature
26 JULY 2024 Date	Date



## Appendix A Unit Price Table

Item	Description	Unit of Measure	Quantity	Unit Price	Amount
1.	Cleaning of existing ditches including the removal of ditching material and tree trimming as shown in appendix C.	m²	2213	\$ 18.00	\$ 39,834.00
2.	Shouldering as marked by Town officials on specific streets as specified in appendix D.	m	131	\$ 45.00	\$ 5,895.00
3.	Asphalt Patching – Includes asphalt cut, removal, tack coat, and asphalt patching on specified streets shown in appendix E.	m²	456.11	\$ 75.00	\$ 34,208.25

Subtotal:

\$ 79,937.25

HST @ 15%:

\$ 11,990.59

TOTAL:

\$ 91,927.84



# Appendix B Signature Page

By signing below, I acknowledge I have read, understood and agree with all the conditions outlined in the Request for Quotation. I also confirm acknowledging pricing as indicated in Appendix A - Unit Price Table, and that I have authority to sign on behalf of the company.

### SIGNED, SEALED AND DELIVERED

Farrell's Excavating Ltd.	
Company Name	
P.O Box 909, Mount Pearl, NL A1N 3C8	3
Address	
Roger Butler, Vice-President	
Name and Title (Print)	Name and Title (Print)
(709) 745-5904	
Phone	Phone
Posts	
Signature	Signature
July 26, 2024	
Date	Date



# Appendix A Unit Price Table

ltem	Description	Unit of Measure	Quantity	Unit Price	Amount
1.	Cleaning of existing ditches including the removal of ditching material and tree trimming as shown in appendix C.	m²	2213	* 45.°°	99,585. <sup>∞</sup>
2.	Shouldering as marked by Town officials on specific streets as specified in appendix D.	m	131	\$500.°°	65,500. <sup>60</sup>
3.	Asphalt Patching – Includes asphalt cut, removal, tack coat, and asphalt patching on specified streets shown in appendix E.	m²	456.11	\$ 250.°°	114,027.50

Subtotal:

279 112 50

HST @ 15%:

41,866.88

TOTAL:

320,979.38



### Appendix B Signature Page

By signing below, I acknowledge I have read, understood and agree with all the conditions outlined in the Request for Quotation. I also confirm acknowledging pricing as indicated in Appendix A - Unit Price Table, and that I have authority to sign on behalf of the company.

SIGNED, SEALED AND DELIVERED				
Parsons Paving Lad.				
Company Name				
1221 Kenmount Road	Paradise, AIL 3W3			
Address				
New Parsons President Name and Title (Print)	Name and Title (Print)			
709-782-3158 Phone	Phone			
8ignature	Signature			
Date / 26 2024	Date			